Orebridgen
Ovningsspel 2019-09-17

Partavling, 5 bord, 10 par. Antal brickor: 16. Medel: 64.0.

Plac Par Poéng % Namn MID Klubb
1 4 87.3 68.20 Berit Nordstrom - Roland Lundegard 35075 64978  Orebridgen
2 2 81.0 63.31 Gunnar Kristofferson - Stig Hulldin 87364 65270 Orebridgen
3 5 80.8 63.15  Ann-Margaret Ohlsson - Anna ldbohrn 64125 55866  Orebridgen
4 8 61.0 47.68 Jill Wapneborg - Gunilla lhrstedt 64165 64166  Orebridgen
5 9 58.0 45.34 Hans Falted - Ann-Marie Falted 67351 67350  Orebridgen
6 7 56.7 44.26  Kerstin Ronnberg - Anders Nordlund 66575 62343  Orebridgen
7 3 55.0 42.99 Rolf G Johansson - Annmarie Lanneteg 62337 93386  Orebridgen
8 1 54.0 42.21 Bo Femermo - Ingegerd Femermo 67352 64132 Orebridgen
8 6 54.0 42.21 Agnetha Waller - Eva-Britt Osterling 66618 66572  Orebridgen
10 10 52.0 40.64 Robert Thorin - Bengt Holm 62338 62335  Orebridgen
1 « D6 Bésta kontrakt 2 4« Kn8 Bésta kontrakt 3 « E10832 Bésta kontrakt
Nord v KDKn964 4v N =420 Ost v Kn75 5& O =-400 Syd vD1095 44 S =130
Ingen + K5 NS + EK10432 ov *4
*K72 & ¢ v & NT «D8 & ¢ v aN #432 & ¢ v & NT
210987 & EKn42 N6 7 106 8 4 ED9654 43 N28445 4 KKn75 D96 N 107 6 6 6
v 108 vE7 S 6 7 106 8 v92 vD10863 S 28455 vE8 v KKn732 S 107 6 6 6
4943 ¢ Kn1082 06 6 36 4 ¢- ¢ D95 O 115 9 8 8 ¢ Kn976 ¢ K52 036576
#D1094 #E86 V66364 #EK1072 #Kn543 vV 115 9 8 8 #Kn87 #D6 V35576
4 K53 4 K1072 a4
v532 vEK4 v 64
+ ED76 + Kn876 + ED1083
#Kn53 *96 #EK1095
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
7 8 4vS= &A 420 8.0 0.0 9 1 440-5 2 250 8.0 0.0 4 7 2#S+1 vA 110 8.0 0.0
9 1 2vN+3 42 200 6.0 2.0 2 4 3v0-2 2 100 6.0 2.0 10 6 2¢ S= 45 90 6.0 2.0
2 4 2vN+2 &6 170 2.0 6.0 3 6 34V-1 2 50 2.0 6.0 8 1 2¢S-1 8 -50 4.0 4.0
3 6 3y N+1 42 170 2.0 6.0 7 8 340-1 ¢A 50 2.0 6.0 3 5 34S-2 vA -100 10 7.0
10 5 2v N+2 42 170 20 6.0 10 5 24V-1 ¢K 50 2.0 6.0 9 2 2vyN-2 w2 -100 10 7.0
4 4 E10874 Bésta kontrakt 5 210 Bésta kontrakt 6 4 D9842 Bésta kontrakt
Vast v Kn42 5¢ V =-600 Nord v763 34 O =-140 Ost vD764 34 S =140
Alla + 106 NS 49832 ov ¢+ K4
#D85 & ¢ v & NT #ED632 & ¢ v o N #D3 & ¢ v & NT
4 K93 D65 N3 2653 49652 4 KKn743 N9 7336 4 EKn 41073 N9 6798
v6 v KD5 S32653 vKDKn92 vEB85 S97336 v 1052 v KKn98 S967 938
¢ KKn92 ¢ ED543 O 10117 8 8 ¢+ E54 ¢ DKn7 045996 4108753 ¢ DKn6 0476 45
#EKB42 #73 V 10117 8 8 «5 #104 V45996 #KKn4 4985 V47645
4 Kn2 « ED8 » K65
vE109873 v 104 vE3
+ 87 + K106 ¢+ E92
#Kn109 #KKn987 #E10762
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
4 7 3NO-1 3 100 8.0 0.0 4 6 2#S+1 vK 110 7.0 1.0 5 8 2NS+3 3 210 8.0 0.0
8 1 3¢40+1 vA -130 6.0 2.0 5 8 2#S+1 vK 110 7.0 1.0 10 7 2NS+2 5 180 6.0 2.0
10 6 3¢ O+2 vA -150 4.0 4.0 9 3 3vV-1 &2 50 3.0 5.0 1 2 24 N+2 ¥8 170 40 40
3 5560= ¥vA -600 1.0 7.0 10 7 4v V-1 &#A 50 3.0 5.0 4 6 24 N+1 ¥8 140 2.0 6.0
9 2 5¢0= 3 -600 1.0 7.0 1 2 46 V= &2 -130 0.0 8.0 9 3 2NS-2 #4 -100 0.0 8.0
7 4643 Basta kontrakt 8 46 Basta kontrakt 9 4102 Basta kontrakt
Syd v95 3v V =-140 Vast v Kn872 54 V =-450 Nord v 109752 44 O =-620
Alla + Kn109743 Ingen + KDKn4 ov + KD75
*E4 & ¢ v & NT #K985 & ¢ v &aN #Kn4 & ¢ v & NT
4D10872 &Kn N48 364 4KD42 4 EKn987 N9 3625 4E985 4KD43 N366 34
vED3 vKnl08742 S 4 8 3 6 4 vE1064 v95 S93625 vEDKn v64 S366 34
+6 ¢ EK5 09596 8 ¢32 ¢+ E10976 04 9 7 118 ¢ 42 + E86 O 107 7 109
#D1093 &Kn62 V959638 #1076 #E vV 497 118 #8763 #KD52 V 107 7 109
& EK95 #1053 4 Kn76
v K6 vKD3 v K83
+ D82 +85 + Kn1093
*K875 #DKn432 #E109
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
10 8 24V-2 ¢J 200 8.0 0.0 2 3 240= &2 -110 8.0 0.0 3 4 44 V-1 5 100 6.0 2.0
2 3 INS+2 &2 150 6.0 2.0 6 1 24 0+1 &2 -140 5.0 3.0 6 8 34V-1 5 100 6.0 2.0
5 7 24V-1 &A 100 4.0 4.0 9 4 24 0+1 &2 -140 5.0 3.0 7 2 44 V-1 5 100 6.0 2.0
6 1 4¢N-1 92 -100 2.0 6.0 5 7 24 0+2 8 -170 2.0 6.0 1 10 24 O0+1 -110 2.0 6.0
9 4 INS-3 a2 -300 0.0 8.0 10 8 44 O+1 vK -450 0.0 8.0 9 5 44 0= 3 -620 0.0 8.0
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10 4 EKn102 Basta kontrakt 11 4964 Basta kontrakt 12 4~ E8 Basta kontrakt
Ost vD103 ANT O =-630 Syd v EK54 3¢ S =110 Vast vED1043 3v N =140
Alla 4103 Ingen + EK10753 NS + KDKn8
#KD32 & ¢ v & NT »- & ¢ v & NT #43 & ¢ v & NT
5 « KD94 N3 2343 «EDKn8 41075 N6 9755 «KD9 # 643 N56 986
v972 v EKKn S32343 v 963 v Kn1082 S89776 v Kn7 v 86 S569 86
¢+ ED64 ¢ KKn85 O 1011109 10 +82 ¢ DKn4 054657 ¢10432 ¢E76 085456
#Kn10987 &E4 V 1011109 10 #E1054 #DKn7 V54657 #DKn95 #EK1072 V85456
4 8763 & K32 & Kn10752
v 8654 vD7 v K952
972 496 495
#65 #K98632 »86
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 10 3NV= &2 -600 7.0 1.0 4 5 2¢ N+1 45 110 7.0 1.0 2 10 1v N+2 &K 140 5.0 3.0
9 5 3NO= 3 -600 7.0 1.0 9 6 1e N+2 v2 110 7.0 1.0 7 1 3yN= &K 140 5.0 3.0
3 4 3NO+1 3 -630 2.0 6.0 2 10 2¢ N=  vJ 90 3.0 5.0 8 3 1vN+2 &A 140 5.0 3.0
6 8 3NO+1 v4 -630 2.0 6.0 8 3 20 N= v2 90 3.0 5.0 9 6 2y N+1 &2 140 5.0 3.0
7 2 3NO+1 5 -630 2.0 6.0 7 1 2¢ N-1 92 -50 0.0 8.0 4 5 4v N-1 #A -100 0.0 8.0
13 4983 Basta kontrakt 14 4 Kn10862 Basta kontrakt 15 & DKn3 Basta kontrakt
Nord v K93 2NT N =120 Ost v D92 ANT O =-430 Syd v 86 4v V =-420
Alla ¢ EKn52 Ingen + KD NS + Kn1043
»K106 & ¢ v & NT »Kn87 % ¢ v & NT 10942 & ¢ v & NT
« K1054 4 EKn62 N8 9 6 58 +E « KD5 N2 3563 « EK974 465 N4 7 346
vED6  vKnl054 S 896538 vE73 v Kn65 S2356 3 v72 vKDKn1095 S 4 7 3 4 6
+83 ¢ D96 054785 +10864 ¢E75 O 11108 6 10 + 86 ¢+ D5 09 5 109 7
#9843  #Kn5 V54785 #ED543 #K1062 V 11108 6 10 #EK87 &DKn3 vV 95 109 7
D7 #9743 #1082
v872 v K1084 vE43
+ K1074 + Kn932 ¢ EK972
#ED72 *9 #65
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
3 10 Pass 5.0 3.0 3 10 3#0+2 v4 -150 8.0 0.0 4 10 44 V-3 v6 150 8.0 0.0
5 6 Pass 5.0 3.0 5 6 3NO= +v8 -400 5.0 3.0 2 5 3NO-1 2 50 6.0 2.0
8 2 Pass 5.0 3.0 9 7 5#40= v4 -400 5.0 3.0 1 3 3v0+2 2 -200 4.0 4.0
9 7 Pass 5.0 3.0 8 2 5&V+l vK -420 2.0 6.0 6 7 4v 0= ¢2 -420 2.0 6.0
1 4 2¢ N-1 #J -100 0.0 8.0 1 4 3NO+2 8 -460 0.0 8.0 9 8 4vO+1 2 -450 0.0 8.0
16 4« E10532 Bésta kontrakt
Vast vK 5v V =-650
ov + K932
#Kn93 & ¢ v o NT
aKD4 - N2 4273
v9876 vEKn1054 S 2 4 2 7 3
+Kn75 ¢ ED108 09 9 115 8
D62 #E1085 vV 9 9 115 8
+ Kn9876
vD32
¢ 64
*K74
Par Kontr ut Res  Poang
1 3 3v0-1 #4 100 8.0 0.0
4 10 34 N-1 vA -50 6.0 2.0
9 8 3v 0= 46 -140 4.0 4.0
2 5 3v0+l 46 -170 1.0 7.0
6 7 3vO+1 46 -170 1.0 7.0
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